ID: 1

Name
Assignment Date Period
Simplify each and state the excluded values.
21n° +72n% + 60n 14b - 12
1) 3 2 2) 2 fh
9n3 +39n? + 30n 6b> —6b—12
7r? —39r — 18 21> -39x - 6
3) 2 4) 2
14r> —72r - 172 x> + 45X + 54
5) 10b? — 89b + 72 ) 2n? —6n - 56
9b — 45 8n? — 56n
x> = 26X + 15 8v — 72
7 — 8) 5
8x% — 40X + 48 15v> —111v - 216
) 56X + 56X — 112 10) 8a’— l6a—24
56X+ 16 18a° — 12a% - 6a
6k? + 63k + 30 6x> —22x2 — 40x
11) 12) 5
5k + 10 —4x% +28x — 40
6p* —24 10x* —38x — 8
13) — T 14) : 5
7p° +11p°~—6p 3x” + 30x
6n° + 66n + 108 50r3 — 160r + 120r
15) — - 16) R
5n“ +41n-36 20r 70r< + 50r
27%% + 72X 18n% — 60N + 42
17) " 18) — 5 —
45%3 — 18x% — 144x 18n% — 42n — 60
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2m? +4m - 16 9v? — 27v?
3 2 20) 2
15m” +45m~ — 60m 10v- —78v + 56

19)

20n% — 142n — 144 x> —3x% — 4x
21) — 22) —
8n° — 8n 6X° — 66X + 60
5b% —45h — 50 2a’-7a-4
23) — 24) —
8b? —72b — 80 3a’ - 18a+24
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Answers to Assignment (ID: 1)
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Assignment
Simplify each and state the excluded values.

50k? + 90k
50k’ + 80k> + 30k

1)

15m* — 24m? — 12m
6m? —4m— 16

3)

5n2 —20n — 60
5n3 —25n% = 30n

5)

70n — 30
50n® + 60n — 80

7)

) 5b-25
3b3 +4b% +b

15r3 — 12r% = 36r
21r° —48r% + 12r

11)

7x% + 60x — 100

13
) 3x% +25%X — 50

28a’ +28a

15
) 28a° — 84a’ + 56a

18X + 60

17
) 42x% — 12x — 54

4)

LT wsgsgs ath-vsorlsheel ory

Name

ID: 2

Date Period

x> — 14X+ 7
5% +2x—7

30x% + 18x — 48
30X + 54X + 24

10p* - 10
3p>+6p+3

7x? - 15x — 18
6x> — 14x — 12

8)

6X> + 22x% + 12X

10
) 3x2 +8x -3

15b° + 168b% + 180b
3b% +27b-30

12)

5v3 +28v2 — 12v
10v? + 60v

14)

7n% +42n — 49
6n> +38n% — 28n

16)

15+ 12p-3p*
2p*—19p +45

18)
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2x— 12 49k% — 161k + 126
3 2 20) 2
4x3 —38x% + 48x 49k? + 119k + 70

19)

3n>-15n-18 21r° —28r% — 28r
. 22) ; 5
4n° —32n +48 49r° — 119r° + 70r

21)

10m? — 86m — 36 4% —x -3
3m? — 15m 7X + 28

23)
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Answers to Assignment (ID: 2)

e P asa ) v S 5
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Assignment

Simplify each and state the excluded values.

3x2 +4x - 15
2x% + 10x + 12

1)

16b + 32
16b% — 88b + 72

3)

10n% — 46n + 24
5n3 +25n?

5)

28k + 32
8k? — 4k — 4

10x% + 15x
25% + 5x% — 30X

9)

2m? — 10m — 72

11) 5
54 +2Im—-3m

12n? - 12
12n% — 48n + 48

13)

28b° — 80b? + 48b

15
) 8b* + 12b” - 56b

42x% + 60x + 18
18x + 18

LT wsgsgs ath-vsorlsheel ory

Name

ID: 3

Date

v +8v+4

2 - -
)2v2—3v—14

12n? + 42n
12n° + 36n% + 24n

4)

6a’ — 8a — 40
2a>+3a-2

27x3 + 18%x* — 45%

8
) 18%% + 36X
7n? +59n - 36
10) 5
14n + 124n - 18
3x? — 38X + 80
12) . 5
—21x3 +222x% — 120x
7p° +63p? +56p
3p? + 14p - 80
45r° — 162r% + 144r
16) :
18r< + 54r
7a®> —23a-20
18)

10a°® — 50a% + 40a

Period
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2% +3X—-9
7% + 31X + 30

4an — 32 20)
14n? — 130n + 144

19)

63a— 72 21x* - 15x — 54
21) — 22)
45a* — 162a + 144 9% +9
5-3v-2v? 12k* + 36k — 120
24) 5
30k — 96k + 72

23)

21v? = 51v? + 30v

g
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Answers to Assignment (I1D: 3)

2 %; 23 937 {% ‘2} ) (2b2—(b9)+(b2)— Ok {% 1}

4 2(n in1)+(n7 +2)’ 0.-1,-2) 9 2(55nn;(2)£n5; : 0.5 0) %; {% _2}

R (2k+7k1)+(k8_ 1) {‘% 1} ¥ (3X2+(>f)+(xz)_ Vo o GEn ek {0"% 1}
10) 2(77”n—__41); {% 9 11) —jgrzn:r:; {9, -2} 12) ﬁ; {o, % 10}
13y 0+l -1) anz(;); 1) 2} 14) %; {13—0 —8} 15) ;E;g {0,—%,2}
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ID: 4

Name
Assignment Date Period
Simplify each and state the excluded values.
D 7n% + 66n + 80 2 15x% + 66X — 45
15n + 132n + 96 10x3 + 60%x* + 50X
3 10m? +20m — 80 2 15p° +21p* +6p
15m? + 69m + 36 9p* - 18p
2r? +7r — 49 6) 14n® — 42n% + 28n
5r3 +37r% + 14r 21n° —42n% — 63n
7 3b? - 14b-24 ) 18> —27x+9
10b? — 40b 63X + 54
9) 10v? = 50v2 — 140v 10) 8X + 72
9v — 63 10x> + 86X — 36
1) 21a%> -87a-90 12) 10n® — 82n% — 72n
—6a’ +42a” - 60a 8n® +96n° + 160n
13) 21x% + 7x% — 98x 14) 30k? — 130k + 140
21x2 — 49x 70k> — 80k + 10
15) 3+ 18 16) 15x% + 72x — 15
3x2 = 11X+ 10 3x2 +13x =10
17) 6m> —4m? — 42m 18) 35n% +25n

9m* — 6m? — 63m 15n® +20n% — 20n
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42n — 6n° 4r +32

19 20) ———M—
) 8n2 —40n - 112 ) 3rP—r-14
10p? +24p + 14 30x* — 60x
21) 3 2 22) 3 2
6p° +4p°~—-2p 20x” —50x° —70x
35b — 21b% — 98b 6n> +33n—18
23) . 24) —
35b% + 56b 3n® +11n—42
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Answers to Assignment (ID: 4)

m+10 (4 3(5x-3) 10m-2) ( 3
Y g 5 D Sy 09 gy
4) (Sp;(?_(g; 1); 0.2 > rérr+72); {O’_% _7} o En+1;g ; (0.-1.3)
7) (3b+El)(b —)6)_ (0, 4) 8) (2x - 1)(x-1) . {_ﬁ} 9) 10v(v+2) (7}
10b(b—-4) = x+6 | 7
4 2 7a+6
10) Sx 2 , {g, —9} 11) m; {0, 2,5}
2 ey 02 o D o)
(Bk-7)(k-2) (1 3(x+6) (5 3(5x—1) (2
) g7k—1)(k—1) ! {7’1} 19) (Bx-5)(x-2) {?2} iG) 3x—2 {5’ _5}
7 m+35 2 n
3 {(0’)5’3} R e A (i SR et {22' 7})
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Assignment
Simplify each and state the excluded values.

49%> + 154x% + 112x
35%% + 14X

1)

9a° + 63a—270
6a’ +44a— 160

12a> +4a-8
12a — 40

40p° +152p* + 144p
40p° - 32p* - 8p

7)

3n% —26n + 35
4n® +24n% — 28n

9)

9m? —3m — 72
6m’ —6m? — 36m

20X + 20
12%% + 40X + 32

6v* — 18v° + 12v?
15v% + 6v —21

9a’ — 6a* — 48a
2a’+2a-4

LT wsgsgs ath-vsorlsheel ory

Name

ID: 5

Date Period

8x% +64x — 72
3x% + 34X + 63

2)

3v2 +22v +24
3vZ +9v—54

4)

24k? + 72k

6
) 16k> — 88k? + 72k

10x3 + 30%x% — 40X
3%+ 12X+ 9

8)

or’ +30r> + 21r

10
) 2r2 +2r

16n° + 16n

12
) 16n° — 8n% — 24n

56b? + 80b

14
) 40b3 — 120b* + 80b

4n? +26n + 12

16
) 2n’>+11n-6

8k> + 24k* + 16k

18
) 4k3 — 19k* — 30k
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4% + 14x+ 6 14x> + 14x — 84

19) ———— 20) ——
4x° —4x — 48 49%~ — 154x + 112
18x2 + 54x + 36 3m® = 3m?

21) — T 22) ————
45x° + 108X + 36 3m“+7m+4

18n+ 12 7p +55p% +42

23) . o4 p : p p

42n° + 6n - 36 Sp°+45p+70
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Answers to Assignment (ID: 5)

2(3a-8)" (3’

S ML AR )
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D) s 9 ey
10) §£§€i112;){0,1} 11) 5§§%fi§55; {0, -2, 3} 12) 2. 0
S(x+1 4 Tb+10
19 §;+ﬂ?+2)’{ 2] ]A)g%;lxg_n’{alj}
n+1) (1 ala-sj
10 S ) " Sy Y
3m* (m-1) (4 3n+2 (6
) @m+4xm+1)’{‘§“*} ) @n_éxn+n'{7“*}
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ID: 6

Name
Assignment Date Period
Simplify each and state the excluded values.
8x% +3x—5 2n? —4n—-70
D~ 2) —
10x? — 30x 21n% = 174n + 189
30b% — 102b + 84 27r + 81
3) 4) 2
42h - 36 63r2 + 81r — 90
4n+4 6) 12%3 + 84x% — 96X
3n% +9n% —30n 5% — 20
5a° —27a% + 10a ) 63n% +90n + 27
70a + 56a° — 14a° 18n + 81
21x% + 48x + 12 v +3v—10
9 —— : 10) ————
TX° 4+ 19x° + 10x ov: — 18v +9
10> —24x + 8 30k® — 12k? — 18k
11) > 12) 5 .
14x% — 14x - 28 42k> — 18k? — 60k
12p° +8p? — 64 5%% 4+ 23X+ 12
13) 2 * p2 i 14) 2+ §
28p° —24p° —-64p S5X“+21x+4
10m> — 18m? + 8m r*+7r2 - 18r
15) 5 16) —————
S5m° —25m 3r+21
6n% + 54n + 48 70%> — 80x2 + 10X
17) D TOAE 18) *

15n%? +111n =72 20%° + 60x> — 80X
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49n? — 63n 15v% + 18v + 3

19 20

) 14n° +21n% = 35n ) 6vV2 +9v — 42
503 —46n% + 9n 12b% —4b - 56

21) L 22) =
2n° — 14n° —36n 8b” +44b + 56
6x> — 8X — 64 5a% — 34a + 45

23) —————— 24) —
7x — 28 5a> —33a+40
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Answers to Assignment (I1D: 6)

7h - 6
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ID: 7

Name

Assignment Date Period

Simplify each and state the excluded values.

D 21p+ 14 2 4x* - 16x° — 48x*
21p* —56p +28 2x% +23x+30
6n° +24n% + 18n 30k + 140k? + 160k

3) 3 2 4 2

4n° +2n° — 6n 20k“ + 30k
4m? = 32m + 60 9x> + 36x°

5) 2 6) 2
om- — 15m - 36 22X+ 11x+ 12

7 6p° +54p? + 120p ) 10n° +32n% — 90n

3p+21p+30 3n? +25n+ 50
9x* + 9x b — 64

9 —S5—— 10) —
x> - 16 7b% +25b—12

28r —24 6a’ +42a% — 108a

11) : 12) . >

20r< + 12r — 56 10a” + 90a
6x> + 72x% + 162X 5v2 + 15V — 20
13) . 14) —
3X“+26Xx—-9 6vV- —52v + 32
8n% +52n+72 10k? — 10k — 20
15) 16) 5
20n + 32 10k? + 20k — 80
27n?% — 54n + 27 7x* + 51X — 40

17) = ! 18) =

45n% - 108n + 36 2X + 4
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45p* —36p — 81 20) 2n? - 13n-7
63p* —207p + 162 2n® —20n% +42n

19)

6m° —39m? + 63m 3r2+16r-12
- 22) — 5
2m- — 13m+ 21 14r° + 82r° — 12r

21)

35%3 — 5%% — 30X 4%3 — 20x% + 24x
- 24) 3 5
15x° +40x 14X° — 56X~ +42x

23)
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Answers to Assignment (ID: 7)

1 3p+2 . { 2} 2) 4x*(x+2)(x—6) {_E’—IO}
3
2’

(3p-2)(p-2) (2x+3)(x+10) " | 2

} " (3k + 8)(k + 2) ; {0,—3} 5) 4(m-35) {_?3}

3n+1)(n+3) { B
2K +3 3(3m+4)’

) Gnra)n-1)

2

0 2>9<X+3 ; {_% _4} " %; 2250 8) %; {_13_0’ _5}
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Assignment
Simplify each and state the excluded values.

63b% +45b — 18
63b> —81b—90

1)

63n — 90
27n% — 126n + 144

3)

7n? +48n + 36

5
) 6n° +57n% + 126n

522 +10a+5

7
) 2a’>-6a-8

18%x% — 36X — 144

9
) 18x -9

42n° +90n? + 48n
30n° + 78n? + 48n

11)

7% + 60X — 100
21x% +231x% + 210X

13)

56b> +96b% — 32b
24b° — 128b% + 160b

15)

14%% + 63X

17
) 35%° — 49x?% — 42x

2)

4)

6)

LT wsgsgs ath-vsorlsheel ory

Name

ID: 8

Date Period

30v? + 48y
18V + 54v? + 36V

x> +7x— 14
4% +24x%* + 32X

2k + 20k? + 50k
3k* + 9k — 30k

16p-16
24p* +104p + 112

8)

15m® — 156m? + 60m
5m? — 50m

10)

7p° —42p°
15p° — 84p? —36p

12)

14n% —92n — 42
14)
7n — 49
30r + 40
16)

50r? — 120r + 40

15n> —6n-9

18
) 9n? — 30n + 24
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a’+4a-21 15v3 — 45v? + 30v

19) ———— 20
) 9a’ — 63a ) v —20v? + 12v
21) 5%+ 18X + 16 22) 3x2 — 15x + 18
212 +21x— 42 7x2 = 29x + 24
2) 50n° +90n? + 40n 20) 21k — 49k? + 28Kk
50n° + 120n* + 70n 35k* — 21k
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Answers to Assignment (I1D: 8)

;E+§E +; { } 2 3(val;(f+2) 01 =2) ) (3n7—n8_)(:10— 2); {22}
i SR SN = i
B IR e e T B R e e
10) M; (0,10} 11) Z:iz {0,—%,—1} 12) (5;‘1 ok {o,—%, 6}
13) —217:(:01) on0p 19 23 ) ((37bb_ 120))(23;_22)) ; {o 13—0 2}
O 17 e PR e ()
19) %; {0, 7} 20) %; {o, gz} 21) % {2, 1}
22) 37()X(—:§); {%3} 29) T {O,—%,—l} 24) (3k_5|f)_('; 1. {0%}
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Assignment
Simplify each and state the excluded values.

8p? —28p + 24
12p + 40

1)

5%% + 54X + 40
5%% + 56X + 60

3)

6n° +58n% + 112n

5
) 5n% +44n + 63

14n% = 28n + 14

7) 5
35n° + 84n + 28

3v2 +12v—36
v+ 14v + 49

9)

8n —80n? + 72n

11)
4n - 36

5k* — 14k + 8
10k> — 22k? + 4k

13)

28x% — 20x% — 8x

15
) 28x%> + 16x% — 80x

2n* +18n° + 16n?
n®—13n+30

LT wsgsgs ath-vsorlsheel ory

ID: 9
Name

Date Period

10x

2 -
)x2—11x+10

2r® — 18r
61> +45r + 54

4)

8m? — 88m + 80
6m? — 54m — 60

6)

12b% — 8b — 32
20b+ 16

8)

2x° — 3% — 35x
5x2 — 17x — 40

10)

3a’ - 14a-24
2a° — 16a* + 24a

12)

7p? —49p + 42
3p° —19p + 6p

14)

60m + 69m? — 21m?

16) 5
3m“—16m+ 16

6r> —27r> + 12r
12 + 25r — 7r?

18)
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2x% + 16X + 30 3b%+3b-18

19 20
) 3x3 +3x% — 18X ) 3b>+b-24
6n° + 44n + 14 8r3 —32r2 —40r
21) 0 T 22) :
3n“ + 14n — 49 28r° + 20r
6x> —9x — 15 18n2 + 36n — 144
23) 24)

21x% +51x+ 30 63n° — 180n + 108
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Answers to Assignment (I1D: 9)

1)(23;i¥i;2);{—%;} 2)(x—1;§—10);{L10}
4 3(2fr+(r3)_(r9)+ 6)’ {_% _6} °) ZnS(ir1++98); {_%’ _7}
n—1)? (Bb+4)b-2) ( 4
" @fﬁgéla);{‘é"a} T ’{‘E}
10) x(2x+7) {_§ 5} 11) 2n(n—-1); {9} 12) 3a+4
5x+8 | 5
sk—4 (1 7(p-1) (1
RETCENE {O’ B 2} 4 p(3pp—1)’ {O’ 3 6}
(7x +2)(x - 1) ; {0 10 } 3m(5 +7m)

) (7x = 10)(x + 2) 16) -

7 2n%(n+1)(n + 8) G0l 18) arler-1) {4 _3}

3m-4

(n-3)(n-10) 3+7r
zo)éﬂzzzz;{§3_5} 21) 393132;{13_7} 22)
3b-8 ' |3 3n-7 3
23) 2X=5 . {—&, —1} 24) 2An+4) {é,z}
7x+ 10 7 n-=6 7

'ﬂ@ B
%f wsgsgs ath-vsorlsheel ory

2aa—2) 2O

3x(x—2) ;
2(r+1)(r-5) 03
7r+35

4o

{-1, 10}
3(v+6)(v-2)

;=73

{0, -3, 2}
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Assignment

Simplify each and state the excluded values.

21a° +219a% +270a

1)

3a’ +37a% + 90a

3n® =20n+ 12
3n® —21n + 18n

3)

8x> — 56x°

5
)2x2+11x+14

27p —45
18p? +45p — 162

7)

or —-27
6r3 —26r% + 24r

9)

15x3 — 63%% + 54x
11)

2x3 = 3x% — 9x

6n° +45n° + 81n

13)
n+7

5n% +20n — 25

15
) 4n° + 10n% - 50n

7a’ + 66a + 27
2a% + 12a - 54

LT wsgsgs ath-vsorlsheel ory

Name

ID: 10

Date Period

2v3 — 11v? — 63v
V3 +21v2 + 14v

2)

54% + 12x% = 2x°
9x> — 60%x> — 189X

4)

6k> — 6
4k + 14

6)

—21n? +186n — 144
6n° — 48n?

8)

4am? +28m?
5m? —28m — 12

10)

8x — 24
5x2 = 31x-72

27b% — 189b% — 216b
5b> + 30b?

14)

42v% — 42
18v% + 60v + 48

16)

5% +4x -1
6x> — 6X> — 12X

18)
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21k* + 69k* — 60k 20) 4p* +22p-80

19)

7k* + 21k — 28 3p+24
63x> — 45x% — 162x 14n*> —=21n - 14
21) . 22)
18x% — 27x 35n - 21
3m? - 36m + 60 3r+15
23) 3 5 24) —;
14m* — 160m? + 200m 5r2-33r—14

A, dagsgs . mabh-verksheeb.org

math-worksheet.org



Answers to Assignment (ID: 10)
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